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oty y =
*sin hy-2C.H cos h
7 1 ¥ (R.33)
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unum C, sInay T ; ! 33) We¥aguiny  szlaan
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2 Ei+2
ax) = P T (ae2) fsSE)
M_(x) i+l
...P— = H
ax Pi® 11+ D =
[ ] Hotx] - i
wnuA —— Tuauns [ﬂ.aaj

iz% - (n. 38)
x dx
AhRpuwaeduns
i g %‘M%Ebm—l-‘u—_%
(n.37)
k, Tausanmuay % .. 2z 1A
Ay 1m mam
ﬂ E] E!?iﬂ?! cz*‘i“ hy]. ?n%h_f
AW mnmumwma d
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p.H
ay - TiY3 4l
dx Ef ti+5'}‘_E Ay
4
_ Py il Ei.+4. ik
¥ =S Taai— ta A, (n.3s)
oW
Tavsmnwoy S5 =y = 0 # X = asladn

By s
A,
. Ve AR (i+3)i!
"ﬂ{" Yﬂ = 7 4 . 7 / TN m—g {ﬂ-aﬂ}
7N mpufiaae
T
wafatanizin nu o
ﬂumnﬂmw 03
HANININGANG .. .
am ﬁn%éﬁiﬂi“ maw e
‘ ey g ‘glylz i-n+2
Ve =0 Tﬂ {i-n+2}I
a2
Tawd y = BI;
T
3 2 1
=Up.H i sin” (n+l) = "
gy - Sy 2  i-n+3 5 yhn
> dx EI_, 00 o {.‘l.—n+3.'l 1
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4
-up.H sin (n+1) il
i v Ei [ngﬂ . 2 Ei n+4 (iontd) 1 +A XHA, (n.a0)
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D Eat ey 4
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fin Lanns inau cl cos
a® 11
g = = sin hyE (R.az)
Y
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{15} -S:Ln (i+l) =
i 2 sin hYE-sin hYq
Taui Ye1 = sin h‘rﬁ] [1-E+ e oy -

ﬂyﬁqmawswaqni
NS LT i)

fim tanas imay czs:l.n hyE

x -.'EC
2F o o= Lan s
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Bufitnmiadunis (A.44) uazldaunisanmueu  szlaan
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1010
1020
1030
1040
1050
1060
1070
1090
1100
110
1120
1140
1150
1180
1170
1180
1150
1200

I2I0F2 =F + 1:F3 =F + 5:F4 =

1220
1230

1240 A$ = *

1250
1260
1270
1260
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
o
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
15e0
1399
1600
1610
1620
1630

REN #%% [NPUT DATA ##e

TEXT : HOME : PRINT TAB( 15)3°------—-—-*: PRINT TAB( 15);*INPUT DATA®
PRINT TAB{ 15);"---==nnnnn .

VIAB S5: INPUT *  TITLE : *:F#: PRINT

INPUT *Mo. of FRAMES.......cvvvievnenns = *:F

INPUT *No. of SHEAR WALLS.............= *i5 &

INPUT *No, of COUPLED SHEAR WALLS.....= *;C

INPUT *No. of REF. LEVELS............. = N

INPUT "No. 0F FLOORS. ... vuvrsenrensns = "5NN

INPUT *Height of STRUCTURES...........= “jH

INPUT "Modulus of Elasticity of WALLS.= *;EN

INPUT *STRUC. Cond. (sym.=l,others=2).= *;Fi: BOTO 1200
VTAB 23: INPUT "Do you accept these data
IF B$ = "Y* BOTO 1190

IF BS = *N* 6OTO 1190
BOTD 1150

RETURN .

GOSUE 1150: IF BS = *N* T

DIN HTINN + 1),EIN) X(F5
DIR DUC) ,LA(C) LBIC),T1(C),

VTAE 8: INPUT *Height.....
GOSUB 1150: IF BS = *N*
REYT L:HTUI) = 0

REM +##¢ [NPUT ELEV. OF REFL J¥:
FOR T =1 TO M: HOME : VTAB 3: 1
PRINT ®INPUT ELEV. OF REFL. NO.*";leJBREST
VTAB 8: INPUT "Elev...seucvesisnnansy =¥

BOSUB 1150: IF BS = *N* THEN 13 g LN/
NEXT | -
IF F = 0 THEN.1520

REN %2 INPUT DATA OF ERAMES ses

FOR 1= 1 70 F: HOME
PRINT *INPUT DATA OF Fmﬂ PRINT A$
PRINT : PRINT *-Input Loca.,

6OSUB 1420: NEXT
VIAB L1: INPUT *
INFUT *No. of DI

FBRJ-IWE[H

FOR K

PRINT "Elev, of DIFF. of Sect. Prop.";K - fj: INPUT *.= “;E1(K,I)
NEXT K

GOSUB 1150: IF BS = "N" THEN 1420

RETURN

IF 5 = 0 THEN 1580

REN ##% [NPUT DATA OF SHEAR WALLS ##+¢

FOR I = F2 TD F3: HOME : VTAB 3: PRINT A%

PRINT ®-INPUT DATA OF SHEAR WALLS®: PRINT AS$: PRINT

PRINT *-Input Loca.,No.kElev. of Sect. Prop.,Sect. Prop. of SHEAR WALL No.

BOSUB 1420: NEXT I

IF C =0 THEN 1930

REM ##+ INPUT DATA DF COUPLED SHEAR WALLS w4+

FOR I = F4 T0 FS5:FB = | - F3: GOTO 1630

HOKE : VTAB J: PRINT A$

PRINT "INPUT DATA OF COUPLED SHEAR WALLS": PRINT A#%: RETURN
GOSUB 1610: PRINT

.IEIIH' ot Diff. of Sect. Prop.,Sect. Prop. of FRAME No. *;1

:::z:::mq BFIIT ﬁw I

wI-F
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1650
1700
1o
1720
1730
1740
1750
1760
17
1780
1790
1800
1890
1900
1910
2160
2170
2180
21%0
2200
210
2220
230
240
250
2260
m
2280
2290
2300
2310
320
2330
340
2345
2350
2360
2380
2390
2400

74

of C.N. Mo. *;F8

BOSUB 1700: BOSUB 1410: 6OTD 1790

INPUT *Distance btw. C.6. of Two Walls.= ®;LA(FB)
INPUT "Clear Span of Connecting Beaw...= "jLBIFB)
INPUT “Moment of Inertia (panel 1).....= *;11(F8)

INFUT "Moment of Inertia lpanel 2).....= ";12(FB)
INFUT “Area (panel 1)..... = ";AL(FB)
INPUT “Area (panel 2).....= ";A2(FB}—
INPUT “Moment of Inertia of Beas...... .= ";13(F8)
1150: IF B% = *N* GOTO 1700

RETURN

PRINT *-Input Loca. of C.W. No. ";F8: GOTO IRIf
VTAB 10: INPUT “Location..ceeeeeeeess LT
GOSUB 1150: IF B$ = *N* THEN 1800
RETURN

EOSUB 1800: EIT I

REN ®e¢ INPUT EHEHI I TORS IO
FOR I =1 TO N: HOME : VTAB
PRINT *[NPUT SHEAR & TORSION A
VTAB 8: INPUT *Shear Force.

PRINT *Input Name of DATA FILE
VIAB 7: WTAB 5: INPUT "File M.
D = CHR$ (4): PRINT D$;"OPEN"
PRINT D$;"DELETE*;C$: PRINT
PRINT D$;"WRITE";C$: PRINT F$:
PRINT Fl: PRINT F2: PRINT F3: PR HT
FOR 1 =1 T0 NN + 12 F'HIHT HT{I): IE)-»‘;;..
FOR 1 =170 N: FIIIITE! ; -
FOR I =1 TO FS: PRINT Lid N
FOR 3 = | T0 Cil): FEIHTi RINT E11J,
NEXT J: NEXT 1

IF C = 0 GOTO 2380 Eﬂ ' W—

FOR I =1 7O C: PRINT O(I): PRINT LA(I}: PRINT LBCE}: PRINT LL(I)
PRINT 12(1): PRINT 13(1): FHI‘“I]: PRINT AZ11)£NEXT |

sl DTN
ARIAINIUNNINGIAD
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TEXT : HOME : VAR 3: INPUT “Mase of DATA FILE to be Displayed : *;C$

1010 D$ = CHR$ (4): PRINT D$;"OPEN";C$

1020
1030
1040
1050
1060
1070
1080
10%0
1095
1100
1120
1130
1140
1150
1160
170
1180
1183
1y
1200
1210
1230
1240
1250
1260
1280
12%0
1300
1310

1320 As = "
1330 LL = 1: GOSUB 1340: GOTD 136€

1340
1350
1360
1370
1380

1390
1400
1410

FOR 1 =1 70 C: INPUT OCI),LACD) ,LBLY)

PRINT D$;°READ";C$: INPUT F$,F,S,C,N,NN,H,EN,F1,F2,F3 F4,FS
DIN HTINN + 1) ,E(N), X(FS) ,C012),Y(12,F5) ,EL(13,F5),NIN) , MIN)
DIN DIC),LACC) ,LBICY, T1ME),12(C), TS(C),AL(C),A2(C)

FOR I =1 T0 NN + 13 INPUT HT(I): NEXT I
FOR I =170 N: INPUT E(D),N(I},MI1): NEXT I
FOR T =1 T0 F5: INPUT X(I),C(D)

FOR J = 1 TO C(D: INPUT Y(J,D),EN(J, 1)

NEXT J: NEXT [

IF € = 0 6070 1120

PRINT D$;*CLOSE®;C$:E$ = *N*
REM #%& [NPUT DATA %4
IF E$ = "N* THEN 110
PRINT D#;*PREI"

HOME : PRINT TAB( 15);°--—--
PRINT : PRINT : FRINT *3-D Tnt
PRINT : PRINT *  File Naee
IF E§ ¢ ) "Y" THEN BOSUB
HOME : PRINT : PRINT "No. of FRAM
PRINT ¢ PRINT "No. of SHEAR'NS
PRINT : PRINT "No. of COUPLED §
PRINT : PRINT *Mo. of REF. LEWELSS.
PRINT : PRINT "No. of FLOORS....d...
PRINT : PRINT *Height of STRUCTURE
PRINT : PRINT *Modulus of Elasticify of
PRINT : PRINT "STRUC. Cond. (sya.=1,obh
IF E$ = *Y* 60TO 1320 .
GOSUB 1310: BOTO 1320 . s -
VTAB 24: INPUT * Press ‘REMM e R PRINT S PRINT 1. /PR : RETURN

PRINT : PRINT : HOME : PRINT A
PRINT *Input Story Height®: PRINT A$

PRINT : PRINT * STORY NO. CHEIGHT" L7
iy gl INe NI NN

FOR I =1 TO WN: PR N (0W;5: Cl 15 EN ( STR§ (HT(I + 1VVDDSHTLL # 1)
U

RN AN T UNNINYA Y

1420 LL = LL + |: GOSUB 1310: BOSUB 1340

1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550

NEXT |
IF E§ ¢ > *Y* THEN BOSUB 1310

PRINT : PRINT : HOME : PRINT A$

PRINT "Ingut Elev. Shear & Torsion & Refl.*: PRINT A$
PRINT : PRINT * REFL. NO. ELEV. SHEAR FORCE TORSION®
PRINT * - et

FOR 1 =1 TO N: PRINT SPC( 6 - LEN ( STRS (D)));1;
PRINT SPC( 10 - LEN { STR$ (ECINI);E(I};

PRINT SPC 14 - LEN { STRS (N(1))));M(I);

PRINT SPC( § - LEN ( STRS (M(I)))I;N(I)

NEXT 1

IF E$ ¢ > *Y* THEN GOSUB 1310

FOR I =1 TO FSsELICAIN + 1,1) = H: NEXT I

-




¥

1560
1570
1580
15%0
1600
1610
1620
1630

1640__PRINT *NO. OF DIFF. SECT..

1650
1660
1670
1680
1490
1700
1705
1710
1720
1730
1735
1740
1760
1770
1780
1730
1800
1803
1810
1820
1830
1835
1840
1854
1860
1870
1880
1890
1920
1930
1940
1950
1960
1970
1980
19%0
2000
2005
2010
2020
2030
2040
2050
2060
70
2080
2090
2100
2110
2120
2125
2310

IFF =0 601D 1740
BOSUB 1580: 60TO 1400
PRINT : PRINT : HOME : PRINT A$

PRINT *Input Data of FRAMES®: PRINT A$: RETURN

FOR 1 =1 TD F: PRINT : PRINT
PRINT * FRAME NOD. ';II PRINT * =====
BOSUB 14630: GOTD 1705

==z==="; PRINT

PRINT "LOCATIOM.....c0vuuuus = " Xt1e PRINT

= ";CUI}: PRINT : PRINT

PRINT * SECT. MO, ELE'MTIU! SECT. PROP.

PRINT * -
FOR J =1 TO C(1): PRINT SPC( & - LE

PRINT SPC{ 11 - LEN { STR$ (EL(J,D))))3EN J,
PRINT EL(J + 1,I);: PRINT SPC( 17 - L k)

NEXT J: RETURM

IF I = F THEN 1735

IF E$ = "Y* THEN 1730
BOSUB 1310: GOSUB 1580

NEXT | - — .
IF E$ ¢ ) *¥Y* THEN BOSUB 1310

IF § = 0 6070 1840
BOSUB 1770: 6OTD 1790
PRINT : PRINT : HOME : PRI
FRINT "Input Data of SHEAR WAL
FOR 1 = F2 TO F3: PRINT : PR
PRINT * SHEAR WALL NO. *;I - F:
BOSUB 1430: IF E$ = *Y* 60TO
IF 1 = F3 GOTO 1835

BOSUB 1310: GOSUB 1770

NEXT I

IF E§ ¢ ) *Y*" THEN BOSUB 1310
IF C = 0 6OTO 2310
GOSUB 1850: BOTO 1880
PRINT : PRINT : HOME : PRING-

N[ STRE (1)))3;

;nﬁ

LEN | STRS (EL(J + 1,100))3¥(d, )

PRINT "Input Data of COUPLE
FOR 1 = F4 TO FS:FB =] -

PRINT * COUPLED SHEAR WALL NIl |*;FB: PF

FRINT "Distance btw. C.6. of iln iills
FRINT *Clear Span of Connecting

. ';LMFBH mnr
LE T LB[

s2=="1 PRINT : RETURN

A o o EERE A A 211 9

PRINT "Area {panll ll....
PRINT “frea panel 2

rn 48 o

et H![Fﬂ]: PRINT

BOSUB 1310: 6OSUB 1840: BOSUB 1B90: BOSUB 2010: BOTO 2090

GOSUB 2010: 60TO 2090
HI"T .Luitiwi' lllll LR

ml“r 'Hn'l u* nIFFI S'E‘Etlllll'll‘tiliill-

o= *j1{0): PRINT

PRINT * SECT. NO. ELEVATION  THICKNESS®
PRINT * =ommmos commmee oo -==*3 PRINT

FOR J = 1 T0 C(1): PRINT SPC( & - LEN ( STR$ (i d;

PRINT SPCU 11 - LEN ( STR$ (E1(J, D))
PRINT E1(J + I,1);: PRINT SPC( I3 -
NEXT I; HE!HRH

IF [ = F5 BOTD 2125

IF Ef = "¥" BOTO 2120

GOSUB 1310: GOSUB 1860

NEXT |

IF E$ ¢ > "Y* THEN 6OSUB 1310

IF I = F5 GOTO0 2350

IENC, 1;: PRINT =%

LEN | STR$ (Y(J,1))) -

R e 27 &) 2

*;C(I): PRINT : PRINT

LEN { STRE (ELL] + L IM0MIsYLd, 1)

76



77

2320 IF E$ = *Y* GOTO 2340
2330 GOSUB 1310: GOSUB 1840

2340 NEIT |

2350 IF E$ = *Y* BOTO 2420

2370 HOME : VTAB 12: PRINT *Do You Want Hard Copy ?*

2380 VTAB 14: HTAB 12: INPUT *TYPE (Y/N) *;E$

2390 IF ES = °N* 60TD 2440

2000 1F E$ = *¥* 6OTO 2410

2410 HOME : VTAB 12: WTAB B: PRINT *Please turn on printer*: GOSUB_1310: 6OTO 1150
2420 PRINT D$;*PREO®

2440 PRINT D$;"RUN OPTIONS,DI*: END

]

Jy-

AULINENINYINT
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1000 HOME : VTAB 3: INPUT *Mame of DATA FILE to be Changed : *;C§

1010 D = CHRS (4): PRINT D$;"OPEN";C$

PRINT D¥;*READ *;C$: INPUT F$,A1,A2,A3,N1 N2, H,EN,F1 B2 B3,B4,B5

DIN HSINZ + L), ES(NL) NS(NT)} MSINL) , X5(85),C5(12),Y5(12,B5) ,E6113,B5)
FOR T =1 T0 M2 + 12 INPUT HS(1): NEXT I

FOR 1 =1 TO N1: INPUT ESCI) WSCI) MS(I}: NEXT I

FOR I =1 TO BS: INPUT XS(I),CS(D) o

FOR J = 1 TO C5t1): INPUT YS(J,1),E&(J,1): NEXT J: NEXT I

1020
1030
1050
1060
1070
1080
1090
1100
1130
1140
1150
1180
1170
1180
1130
1200
1210
1230
1240
1250
1260
1280
1300
1310
1320
1330
1340
1350
1370
1380
1390
1400
1420
1430
1440
1450
1460
1470
1475

IF A3 = 0 BOTO 1130

FOR I = 1 TD A3: INPUT Dl[IJ,D?I11,nlill,H4lli.ﬂslli,ﬂﬁiil,ﬂ?fll,ﬁﬂ[[l: MEXT 1

PRINT D$;*CLOSE*;C$

If = *- mmmmmmemea |

HOME : PRINT TAB( 15);%-=mmmmmnnnn"s '% DATA": PRINT TAB( 15);°
VIAB &: PRINT *3-D Interaction Analys /

VIAB 9: PRINT *  File Name : *:
VTAB 23: INPUT ~Press ‘RETURN KEY
HOME : VTAB 2: PRINT “Mo. of F
FRINT : PRINT "Mo, of SHEAR WAL
PRINT : PRINT "No. of COUPLED
PRINT : PRINT *No. of REF, LE Ry
PRINT : PRINT *No. of FLODRS......

FRINT : PRINT *Height of STRUCTUj
PRINT : PRINT "Modulus of Ela
PRINT : PRINT *STRUC, Cond. (sya.
VTAB 23: INPUT "Do you want to
IF A% < ) *Y" AND A$ ¢ > *N* GOT

IF A$ = *N" BOTO 1480

HOME : VTAB 2: INPUT "Mo, of FRAMES.

H
B%

PRINT : INPUT *No. of SHEAR WALLS........

PRINT : INPUT *No. of COUPLED SHEAR

PRINT : INPUT *Mo. of REF.

PRINT : INPUT "No. of FLOORS,

-Em_‘ -

PRINT : INPUT *Height of ;rr v rratnnaee
FRINT : INPUT *Modulus of Elaslizity o

PRINT : INPUT *STRUC. Cond. (sy

BOSUB 1440: BOTO 1470

e othe?

VIAB 23: INPUT "Do you accept thesé daka ? (Y/N) *;B$

IF B$ ¢ ) *Y" AND B$
RETURN

IF B$ = *N* BOTD 1330
60TO 1490

¢ o Q/
1480 F = Al:S = m:{ﬂnﬂﬂ:ﬁﬁﬂ ‘im uw’]q WEI’] a E]
F2 = F + 1:F3 = Fls 8:F4 =IFDV 138s1=1e3
1500 DIN HYINN + 1), EMN)  WON) MIND X(FS),C(12),Y(12,F5),E1(13,F5)
1510 DIN O(C),LA(C) LBIC) , T1(C) , 12(C) ,13(C) ,AL{C) ,A21(C)
1520 D1 = N: IF NI ¢ N THEN DI = N1
1530 D2 = NN: IF N2 ¢ NN THEN D2 = N2
FOR 1= 170 D2 ¢ 1:HT(I) = HS(1}: NEXT I
FOR 1= 1 T0 DI:ECD) = ESCID:NCD) = MSCIDsNCT) = NS(DD: NEXT 1
REM #s¢ ARRANGEMENT DIMENSION ##4

1430

1550
1560
1580
1590
1600
1601
1603
1605
1610
1620
1623

1630
1hadn

IF F = 0 6070 1630
FOR 1 =1T0A
IF T > F 6070 1630

fl

U

MY TNEITNYINT

I1 = 1: BOSUB 1505: 6OTD 1425
LITLY = ISCDCOI = c541
FOR J = 1 70 CUI0N:Y0I, 000 = YSE3, 0BG, 11D = E&ld, D)

MEXT J: RETURN
KEIT [

IF § = 0 6OTO 1670
FNe 1 = 87 Tn 0%

"y

qq —————————
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1650 IF 1 - A1 ) § BOTO 1670

1660 11 = 1 + F - Al: GOSUB 1405: NEXT 1

1670 IF € = 0 6OT0 1780

1680 FOR 1 = B4 TD BS

1690 IF 1 - B3 ) C 6OTO 1710

1700 11 = 1 + F3 - B3: GOSUB 1605: NEXT I

1780 FOR I = | TO A3:11 = [: GOSUB 1790: 6OTO 1800

1790 0(11) = DIC:CACTD) = D2UD):LBITY) = D3CI:11(T1) = DACDI:I2010) = OS(D: 13010 = D&CID:ALIIN) = D7(1):A2(]
1) = DBII): RETURN

1800 NEXT [

1845 REM s+ INPUT ADDITIONAL & CHANGE OF STORY HEI

1850 IF NN ¢ = NZ GOTD 1910

1860 FOR 1 = N2 + 1 TD N

1870 HOME : VTAB 3: PRINT X$: PRINT *INPU

1880 VTAB B: INPUT "Height.............:

1890 GOSUB 1440: IF B$ = *N* BOTD 187

1900 NEXT I S .

1910 HOME : VTAB 5: PRINT *Do you want \height 2% BOSUS.1920: 6OTD 1940

1920 VTAB 8: HTAB 14: INPUT *Type rJy/ :

1930 IF AS ¢ ) "Y* AND A$ ¢ > *N*

1935 RETURN

1940 IF A$ = *N* GOTD 2030

1950 VTAB 10: INPUT "No. of Data t

1960 GOSUB 1440: IF BS = *N* GOTO 1910

1970 FOR I = | TO K1

1980 WOME : VTAB 3: PRINT X$: PRINT *

1990 VIAB B: INPUT "Story No..........

2000 PRINT : INPUT *Height.....o.evevssnes

2010 GOSUB 1440: IF BS = *N* GOTD 1980

2020 NEXT 1 ~

2025 REM w«ex INPUT ADDITIONAL & C CHANGE OF ELEY

2030 IF N ¢ = NI BOTD 2090

2000 FOR I =N +1TON

2050 HONE : VTAB 3: PRINT X$: PRINT“SINPL

2060 VTAB B: INPUT "Elevation.......pshessssss

2070 GOSUB 1440: IF B$ = *N* 6OTO 2050

2080 NEXT 1

2090 HOWE : VTAB S5: PRINT

20 1 41 - o 22 Huﬂ"ﬁ'ﬂﬂﬂ'ﬁ WENS
2110 WTAR 10: INPUT *Na. of D3ta to be Changed........

2120 BOSUB 1440: IF Bs = *N* aum 2090

B B AR SA SN I NG Y

2050 VTAB 8: INPUT *REF1. NO..evvverseressrrnsss = %]
2160 PRINT 3 INPUT "Elevation..svessrersnoreeess = “E0)
2170 GOSUB L440: IF BS = "N GOTO 2140

2180 MEIT |

2200 REM %« ADDITIONAL & CHANGE DATA OF FRAMES we#
210 IF F = 0 BOTD 2500

2220 IF F < = Al GOTD 2380

2230 FOR1=82TOF

2240 HOME : VTAB 3: PRINT X$: PRINT "INPUT DATA OF FRAMES®: PRINT X$
2250 PRINT : PRINT *-Input Location & Prop. of FRAME No. *;I

2260 GOSUB 2270: GOTD 2370

2270 PRINT : IMPUT *Location...ssessssreversossesssss "§XI1)

2280 INPUT “No. of DIFF. of Sect. Prop......= *;C(I): PRINT

2290 FOR J =1 70 C(I)

2300 PRINT "Sect, Prop. *3d:: INPUT "ovvvnvinnannnssene.® "1Y1, 10 R
2310 NEXT J: PRINT =



2320
2330
340
2350
2360
nn
2375
2380
k¥l
2430
2440
2450
2460
470
2480
190
2495
2500
510
oYyl
2530
2540
2550
2560
2570
2380
2590
2600
2610
2620
2630
2640
2645
2650
26b0
2670
2680
25690
2700
2750
760
2770
2780
27970
2800
2810
2820
2830
2840
2850
2940
2950
2960
170
2980
990
3000
3010
3020
3030
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IF Ct1} = 1 GOTD 2340
FOR K =2 TO CtI}
PRINT : PRINT *Elev. of DIFF. of Sect. Prop. *iK - I3z INPUT ®.= %;EL(K D)
NEXT K

RETURN

GOSUB 1440: IF BS = "N* GOTOD 2240

NEXT I

HOME : VTAB 5: PRINT *Do_you want to change data of frames 7*: BOSUB 1920
IF A% = "N" BOTD 2500

VTAB 10: INPUT "Mo. of Frases to be Changed....= *;Ki

GOSUB 1440: IF B$ = "N® BOTD 2380
FOR L =1 TD Kl ,
HOME : VTAB 3: PRINT X$: PRINT *CHANGE DATA OF 'FF
VTAB B: INPUT *Frame NOuuseusunesrsnnsnnse
GOSUB 2270: GOSUE 1440: IF B$ =
NEXT L

REN  s&# ADDITIONAL & CHAMGE DATF

3 i’-"" } | x
[F S = 0 600 2450 | e
IF § ¢ = A2 6OTD 2560
FOR 1= F2 + A2 T0 F3 ,

HOME : YTAB 3: PRINT X§: PRINT *
PRINT : PRINT "-Input Locati
GOSUB 2270: MEXT 1

HOME : VTAB S: PRINT "Do you
IF 4% = "N* GOTD 2650

VTAB 10: INPUT "Mp. of Shear Wall§ tofbe
BOSUB 1440: IF BS = "N® GOTO 2540
FOR L = 1 10 KI .
HOME : YTAB 3: PRINT X§: PRINT *CHANGERDATASES:
VTAE 8: INPUT *Shear Wall Mo.....ceatine rherras
GOSUE 27270: BOSUB 1440: IF B = °N° EﬂTD
NEXT L
REM  ®ev ADDITIONAL & CHANGE
If € = 0 6OTO 4000

IF C < = A3 BOTO 2970
FI]HI'FtHHTI]FEFE"Ia a

HOME : VTAB 3: PRINT X$: PRINT PUT DATA OF COUPLED SHEAR WALLS®: NT X$: POKE 34,5

HOME : PRINT : PRINT *~Input Prope giaCOUPLED SHEAR WAL No. *;F8

GOSUB 2710: BDTO 2830 /2 .
INPUT “Distance btw. ‘ u»ﬂia%ﬁm ﬁ w ﬂ ’] ﬂ ‘j
INPUT *Clear Span of Cofpbcting Beas...=

INPUT *Mosent of Inertia (panel 1)..... = *; 110F8)

e :::::"*ﬂWﬂﬁ\iiﬂ‘a‘maﬂJm’mEﬂaﬂ

INPUT "#rea panel 2)...0s = "+ 42 (F
INPUT "HMoeent u{ Inertia of Beam.. =N IEIFB}
RETURN

BOSUB 1440: IF B$ = "N* 6OTD 2690
HOME : PRINT : PRINT *-Input Location k Prnp of COUPLED SHEAR WALL No. ";FB: GOSUB 2850: BOTD 2950

PRINT & FRINT @ INPUT “Location......ceceninsaians sreana® R
RETURN

BOSUB 1440: [F BS = *N* GOTO 2840

NEXT I

TEXT : HOME : VTAB 5: PRINT "Do you want to change data of coupled shear walls 7 ": GOSUB 1920
IF A% = "N® GOTO 3080

VTAB 10: INPUT *Mo. of Coupled Shear Walls to be changed..= "kl

GOSUB 1440: IF B§ = *N* BOTO 2970

FOR L = 1 TO Ki: GOSUB 3020: BOTO 3040
HONE : WTAB 3: PRINT X$: PRINT *CHANGE DATA OF COUPLED SHEAR WALLS®: PRINT X#: POKE 34,5

PRINT : INPUT 'Euupled Shear Wall Mo..cwvees wes= "3Bil = F3 + B:FE = B: RETURN

e e P T



3043
Jo50
Jos0
3063
3070
4000
4010
4020
4050
4050
K70
4080
4090
#1110
4130
4140
1350
4160
7
Heo
4590
4200
4220
¥230
4250

4260 D$ = CHR$ (4): PRINT DS;"OPEN*;C

4270
4280
4290
4300
4310
4320
4330
4340
4350
4360
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IF BS = "N* THEN BOSUB 3020
6OSUB 2840

GOSUB 1440: [F B$ = "N* THEN BOSUE 3020

IF B$ = *N* BOTD 3050

NEXT L

IF N ¢ = NI 60TO 4090

FORT =Nl +1TON .

HOME : VTAB 3: PRINT X$: PRINT *lnput Shear k Torsion at Refl. No. *;I: PRINT X$: PRINT : PRINT
INPUT "Shear FOPCR....voeevsssee.= "jWIE): PRINT

INPUT "Torsion...osesvsenscsnnnas = "N

GOSUB 1440: IF B$ = "N* BOTO 4020

NEXT I

HOME : VTAB 5: PRINT "Do you want to ch
BOSUB 1920: IF A$ = "N* 60TO 4230
VTAB 10: IMPUT "Mo. of Data to be Ch
BOSUB 1440: IF BS = *N* 6OTO 4090 .
FOR 1=170KI _
HOME : VTAB 3: PRINT X$: PRINT *CHANG
VTAB 8: INPUT *Refl. Mo........
FRINT : INPUT *Shear Force.........
PRINT : INPUT *Torsion........ ...
BOSUB 1440: IF B$ = "N* BOTO 4140
NEXT 1
HOME : VTAB 7: PRINT "Input Name of
YTAB 9: HTAB 5: INPUT *File Name 3

H 4

.=

PRINT D$;"DELETE®;C$: PRINT D$;"OPE
PRINT D$;*WRITE*;C$: PRINT F$: PRINT F: 1
PRINT F1: PRINT F2: PRINT F3: PRINT F4§ PRINIES. . - -
FOR 1 =1 TO NN + 12 PRINT HT(1): NEXT I =

FOR 1 = | TO N: PRINT E(1): PRINT W(I): RAll
FOR 1 =1 70 F7: PRINT X(I): PRIYT :
FOR J = 1 T0 C(D): PRINT Y{J, e ™
NEXT J: KEIT | Ly A
IF C = 0.60T0 #400
FOR T = 1 TO C: PRINT D{I): PRI

PRINT NN: PRINT H: PRINT EN

A2(D): NEIT I

o
o
20

]

e s ] UHINYNTNEINT
RINNINUNIINYINY

lﬂﬁl!h PRINT LB(I): PRINT !:(I): Pﬂm [2110: PRINT I3{I}: PRINT AR(I): PRINT
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1000 REM ### 3-D INTERACTION ANALYSIS PROGRAN ses

1050 D§ = CHAR$ (4): HOME : VTAB 3: INPUT "Name of DATA FILE to be Executed : ;C$
1100 HOME : VTAB 12: HTAB 12: PRINT "Do you want hard copy ?*

1150 VTAB 14: HTAB 17: INPUT *TYPE (Y/N)*;AA$

1200 1IF AA$ = *N* BOTO 1450 o

1250 HOME : VTAB 12: HTAB B: PRINT "Please turn on printer®

1300 VTAB 23: INPUT * Press "RETURN KEY' to be continue *;ABS$

1350 PRINT D$;*PREI® .

1400 PRINT D$;"OPEN";Cs
1450 HONWE : PRINT D$;°READ®;C$: INPUT F$,F,5,C,N F1,F2,F3,F4,F5

1500 DIM HT(NN + 2),E(N),X{F5),C{12),Y(12,F5) EL MU HON) SIN N VIND TIN) ROND,LINN # 20, X1(NN) ,BS (NN)
5 ’ MUIC) BALL)
' &uz.ﬁ},mm,mm JHO(NN) ,AX (NN) , 0 (NN, 3)

1550 DIN O(C),LALC),LBIC), I1(C),124C),ISHC
1600 DIN FLIN,N,2 # FS),6(N,N,&) HIN NILEIN
1650 FOR 1 =1 TO NN + {2 INPUT
1700 FOR 1 =1 TO N: INPUT E{1),Wt1)
1750 FOR 1 = 1 70 F5: INPUT X(1)
1800 FOR J = 1 TO C(I): INPUT ¥
1850 MEXT J: MEXT I

1900 1IF C = 0 BOTO 2100 : L
1950 FOR 1 =1 TD C: INPUT O(I),LR ' L : | O AL AZ(1): NEAT |
2100 PRINT D$; *CLOSE®;CS — -

2150 PRINT : PRINT *Analysis
2200 PRINT : PRINT * File N
22730 FOR I =1 7O F3:N(1,1) = |
2300 FOR L =1 70 COI}:HILL, D) = ¢
2350 FOR J =1 TO W:11d) = (H - E
2400 IF 243} < HILL,I} THEN ER(J,I)
2450 FOR K = 1 T0 M:FLIK, 3,10 = 0.0
2500 MEXT K: NEXT J: MEIT L: MEXT I
2330 IF C = 0 BOTO 3150 -
2600 FORI=1T0C

2950 IS(1) = [1(D) + 12(1):A3 5 4 : WLAUD + LA NUILD) = LA 7 A8
3000 BE(I) = SGR (12 # I3(I) ¥ .;_i :
3050 GACI) = BE(I) & H & SR (ALY

350 FORI=FATOFS:B=1-F3:

UB 2800:¥(1,1) = €M & (LH(1) + 1201)): MEXT |
3300 IF AAS = *N* THEN PRINT D§;*
%0 IF F = 0 6010 4.55

ADUNINENNT

3450 REN “I- l'.ﬂ!l?tlTE FRAN 5 STIFFHESS ###

2 SRt TN

3550 FOR J =
Je00 FORK =1 TOE
3650 FL3,1,10 = AIG3, 0,10 & & & CHOCK,I) - 20300 & (0 / MUK # L, 1) - & 7 NUK, D))

3700 I\EIT lr HEXT J

3150 FORR =070 N2:M =R + 2:51 = 1: IF R = 0 6OTO 3850

3800 FORL =1 TO R:S1 = S1 # L: MEXT L

3850 52 = 1: FOR L = 1 TO M:52 = 52 # L: NEXT L

3900 FORJ =1TONK

3950 FOR K = 1 TO EQUJ, 1)

4000 FICJ,R + 2,10 = FIQJ,R + 2,1} + B # (51 7 520 & (HOUK,I) ~ M - 2030 ~ M) & (0 7 NOK ¢ 1,0} - 1 | MIK, 10}
4050 MEXT K: MEXT J: MEXT R

4150 GOSUB 4250: MEXT [: GOTD 4650

4200 RENM #x% INVERT MATRIX #ee

4250 FOR L =1 TO N:D = FLCL,L, 1}

4300 FOR J =1 TO N:FRIL,J,1I0 = =~ FLIL,J,01) 7 D: MEXT d

4350 FOR M =1 TO N: IF L = M BOTD 4550

4400 FOR J = | TO N: IF L = J GOTD 4500
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4450 F1ON,3,1) = FI(M,3,1) + FL(N,L,1) # FIL,3, 1)

4500 MNEXT J:FLOM,L, D) = FIOM,L,D) / D

4550 NEXT M:FICL,L,J) = 1O/ D

4600 NEXT L: RETURN

4650 IF § = 0 60TD 5550

4700 PRINT : PRINT *COMPUTE FLEXIBILITYLSTIFFNESS OF SHEAR WALLS®

4750 REN  #+3 CONPUTE SHEAR WALLS STIFFNESS ##+

4B00 FOR I = F2 TO F3: GOSUB 4850: GOTD 5500

850 A=H*3/Y(L,IB=Heh

4900 FOR J =1 TO.N

4950 FOR K = 1 TO ERUJ,D)

5000 FIJ, 1,010 = FIGIL, 0,00 + A ® (20D ~ 3 7 6 - WK » 28 200 / 2 HIK,() * 3430 # (1 / NIK #+1,1) -1 ¢
NiK, 1)) -

5050 NEXT K: PRINT F1(3,1,0): MEXT J

5100 FORR =0 TON2:N =R+ 3:P =R

5150 FORL =1 TO R:S1 = S1 # L: NEID

5200 52 = 1: FOR L = | TO M;52 = S2°%

5250 §3 = 1: FOR L = | TD P:53 =

5300 FORJ =1TON

5350 FOR K = 1 T0 EQUJ, 1)

5400 FI(J,R + 2,1) = FI(J,R + 2,11 4%
P/ S & (14 NK#+ 1D -4

S450 MEXT K: MEXT J: MEIT R: RETU

5500 GOSUB 4250: NEXT I

5550 1IF C = 0 6OTD 7850

5600 PRINT : PRINT "COMPUTE FLEX

5650 REM #%# COMPUTE COUPLED SHEAR

5700 BOSUB 5750: BOTO 5800

5750 DEF FW COIA) = ( EXP (A} + EIP

5800 FOR I = F& TO FS:FB = - F3:

SASOA = M3/ YOI 0008 = H & AsBd =

5900 FOR J = 1 TO N:B3 = B4 & i

5950 FOR K = 1 70 EQ(J, 1 3

5000 BY = I(J} * 3/ & - HI(K,]

5050 B2 = B4 & HI(K,1):B5 = B2™=

6100 B7 = (MU(FB). / (B4 * 2 & F

6150 B8 = (1 - MUIFB)) ¢ BI + B7

6200 F1(J,1,1) = FILJ,1,1) + A« BB f fb / NIK + 1,1) - fyb NIK, 1))

s :::':.:E:.::”ﬁummmmmi

6350 FORL =1 TO R:S1 =
bAOO 52 = L: FORL = 1 TD H 52 = 52 # L NEXT L €

4450 83« I Fmﬂqﬂﬂﬂﬁ‘m jJVﬂ'J\ ng a d

assu FOR K = | TORER(J,1):B2 = B4 # MI(K,1):BS = B2 - Bd
8400 BI = 51 € 7(J) ~ P / §3 - S ¢ HIIK,I) ~ N & 2(J) / 52 + N & 51 & HI(K,I) ~ P / §3

6650 B7 = T0J) A 272 - 1(J) ¢ WK, + HI(K,1) ~ 2/ 2

6700 B8 = ( FN CO(BS) - FN CO(B&} + FN SI(BS) ¢ (B3 - B2)) / (B4 » 2 & FN CO(B4))

8750 B9 = Bl - (NU(FB) # (BT + BB) # S1 & SIN ((R+ 1) 8 11 /7) ~2) / (B4~ 2% B4 ~ R):D5 = 0

6800 FOR T =0TOR ¢ L:Ml =R -T # 3:Pl = R-T#4P2=R-T+1:54=1:55=1:56¢=1

6850 FOR L = | 7O M1:S4 = 54 # Ly NEIT L

5900 FOR L = 1 TO P1:55 = 55 # L: NEXT L

5950 FOR L = 1 TO P2:56 = S # L: NEXT L

7000 D1 = (S1 # 2¢J) ~ P1 / 55 - ST & HI(K,I) ~ NI & T(J) / 54 + HI(K,1) ~ P1 & ML # 51 / 55) / (B4 ~ (T - 2))
7050 D2 = HI(K,I) + FN CO(B2) - FK CO(B2) # I{J) + FN SI(B3) / BA - FN SI(B2) / B4

7100 D3 = 51 /7 (56 # B4 * T & FN CO(B4))

7150 D4 = (D1 - D2 # D3)  (MUIFB) ¢ SIN ((T ¢ 1) ¢ {1/ 7) ~2 /B8~ 20:05=05+ D4

7200 NEXT T

7250 FAGJ,R + 2,10 = FI(J,R + 2,10 + B ¢ (B9 - 05) # (1 / NIK + 1,10 = 1 / NIK,I})

7300 NEXT K: MEXT J: NEXT R: RETURN

IV 2 W& 2(J) 52+ N & 51 ¢ HIK,I) #

-ﬁan ¢ (( FN SI(B3) - FN SI(B2)) / BA))



71350 BOSUB 4250: NEIT |

7850 PRINT : PRINT *CALCULATE S-WATRIX®

7900 FOR J = 1 70 N:50J,0) = 1.0: HEXT J

7950 FOR 1 =270 MLl =1 -1

8000 FOR J = 1 TO N:S(J,1) = H # 263} » L1 / LI

BOSO MWEXT J: NEXT [

8100 REM "COMPUTE SUM STIFFNESS F1*

B1S0 GOSUB 8200: BOTO 9000 o
8200 L = 1:M = 0: REM "CONPUTE 61"

B250 FORJ =1TON
8300 FORK=1TON
8350 HIJ,K) = 0.0
B400 NEXT K: NEXT J
BAS0 FOR I =1 TOF§
BSO0 FORJ =1 TON
8550 FORK=1TON
B400 HUJ,K) = HIZK) + F1UJ,K,1
BLS0 MNEXT K: MEXT J: MNEXT I
B700 FORI=110N

8750 FORJ=1TON

8800 B(1,J,L) = 0.0

8350 FORK =1TON

8900 6(1,J,L) = B(1,J,L) + S([,K}
BY50 MEXT K: MEXT J: NEXT I:
§000 IF F1 ¢ 3 | THEN 9250
9050 K = 1: REM "INVERT GI"
9100 GOSUB 10500

9150 FOR 1 =1 70 N:VII) = W(I):
9200 GOTD 9650

9250 FORI =1 T0F5
9300 FOR J =1 70N
9350 FORK=1TON
400 F1(J,K,1 ¢ F5) = F1{J,K, L3401
S0 NEXT K: NEXT J: NEXT [ ._y;.
9500 L = 2:M = F7: REN *CONPUTE 42
9550 BOSUB 8250 _ ]
9500 REM ##&¢ COMPUTE FleX~2 #s
9550 FOR 1 =1 10 FS ‘ a o/

=2 AUEINENINGINT
9750 FORK =1 TON

9800 F10J,K,1 + F5) = FLIRK, D) & 1(I) ~ 2

9850 NEXT K: NEXT J: NEXT [

::t.;;;m@mﬂmm UA1AINYAY

10000 K = 3: REM IIINEHTEIHF
10050 GOSUB msm

10100 K = 1: BOTD 12600

10150 REM  wsw CHANGE B2 TO G4 ##s
10200 FOR 1 =1TON

10250 FOR J =1 TON

10300 6(1,J,4) = 6(1,3,2)

10350 MNEXT I: MEIT I

10400 K = &; REN  ##¢ INVERT G4 &4
10450 GOSUB 10500: 6OTO 11150

10500 FORL=1TON

10550 D = BIL,L,X)

10600 FOR J = 1 TON

10650 GIL,J,K) = - GIL,J,K) /D




10700 MEXT J

10750 FOR M =1 TON
10800 I[F L = M THEN 11050
10850 FOR J =1TON
10900 IF L = J THEN L1000
10950 6(N,d,K) = GIN,J K) + G(N,L,KI ® BIL,J,K)
11000 NEXT J:G(M,L,K) = BIN,L,K) / D
11050 NEIT M:BiL,L,K) = 1.0 / D
11300 MEXT L: RETURN

I1150 L = 3:M = #:D = 5: REM +«#¢ COMPUTE G3#G4 w#s
11200 GOSUB [1250: GOTOD 11400
11250 FORI =1 TON

11300 FORI =1 TON

11350 6(1,3,0) = 0.0

1400 FORK =1 TO N

11450 6(1,4,D) = BI1,J,0) + Bi1,K,L
11500 NEXT K: NEXT J: NEXT I
11550 RETURN

11600 REM ##¢ COMPUTE GI4G4eM sis
11650 FOR [ = | TO N:V(I) =0
11700 FOR J =1L TO N
11750 VD) = VID) + 6(1,4,5) #
11800 NEXT J: MEXT 1
11B50 REN #+#% COMPUTE N-V 42
11900 FOR I =1TO N
11950 V(1) = (D) - Wil
12000 MEXT 1

12050 L = 5:M = [:D = b: REN sss
12100 BOSUB 11250

12150 REM  es& COMPUTE 62-G4 ##+
12200 BOSUB 12250: BOTO 12450
12250 FORI=LTON
12300 FORJ =1 TON

12350 B(1,d,5) = 611,3,2) - 6} ;T,T:{j
12400 NEXT J: WEXT I: RETURN“A A
12450 K = St REN 5% INVERT asﬂ T
12500 GOSUB 10500 i

12550 REN w## COMPUTE RIGID BODY 31 Y wex

= B iundvens

= AR Nt

12950 BOSUB 11

13000 REM ##% COMPUTE GlaGdsn wes
13050 FOR I = 1 TO M:W(I) =0
13100 FOR J =1TON

I3150 V(1) = WD) + B(I,3,D0 & Ki)
13200 NEXT J: NEAT I

13250 IF F1 < > | THEN 13500
13300 FOR I = 1| TO N:RCI) = Wi(1)
13350 NEXT 1

13400 BOTOD 14250

13450 REN #&## COMPUTE W-V w28
13500 FORI =1 TON

13350 v(I) = Wil - vin)

13600 MEXT I
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13650 L = S:M = 3:D = b: REM  ##4 COMPUTE 5145463 see
13700 GOSUB 11250

13750 REM  ### COWPUTE B2-Gb ##e

13800 6OSUR 12250

13850 REM  wxe [NVERT G5 w24

13900 K = 5: BOSUB 10500

13950 REM ### COMPUTE ROTATION 0 ##¢ —

14000 FOR I =1 TO N:REID = 0

14050 FOR J =1 TON

14100 RLI) = RII) + 6(1,J,5) # ¥id)
14150 NEXT J: MEXT ]

14200 REM ##s CONPUTE DISPLACEMENT ##s
14250 A$ = "===sscses=soczrzosmmms===t
14300 IF AA$ = *Y" THEN PRINT D$;*
14350 FOR I =1 TO FS

14400 FORJ =1 TON

14450 VD) = TUd) # REJY & X0
14500 NEIT J

14600 FOR J = 1 T0 N:H(J) = 0
14650 FORK = 1 TON

14700 W(J) = Wid) + FLLIK,I) # ¥
14750  NEXT K: NEXT J

14800 REM ##¢ CONPUTE FORCES AT
14830 L(0) = O:L(1) = 0
14900 FOR J = 2 TO MM + |
14950 LEJ) = LW - 1) + HTQ)
15000 MEXT J

15050 LINN ¢ 2) = LINN + 1)
15100 FOR J =1 TO WN + |
15150 §1 = (H - LG 7 W@ =

15200 P = (H - (LWJ) + L1J - IN f"—""'“ij__________-
15250 ¥ = 0:6 = O:HTINN + 2) = 0

15300 FORK =1 TON -1

15350 @ =0 + WK+ 1) ¢ HesSl* EH{
IS0 Y =Y+ WK+ 1) e HaepPrK/

= I neniweans

13550 Y=Y -6
15600 I.’FJIIHH*ITHEI Y+ WD

s AR Angnas

15710 G6OSUB 15750
15750 Fﬂll"ﬂlﬂ“

15800 M = 0: IF K = 0 GOTD 146000

15850 FORJ =1 TO K

15900 W =N ¢ X1 € (NN #1-J) # (LIK + 1) - L3

15950 NEXT J

16000 HOINN - K) = N

16050 MNEXT K: RETURN

16052 IF 1 ¢ = F3 GOTD 16095

16055 FB = [ - FR:B2 = 0

16056 EBOSUB 16058: BOTO 16095

16058 B2 = 0:D1 = 0: FOR K = O TD NN:B5 = 0:E4 = 0:M = O:M0 = 0:C = 0:L1 = 0:C4 = 0:M2 = 0:M3 = 0:M4 = 0:M5 = 0: IF

K = 0 THEN 14090

16040 B4 = BA(FB):BI = BE(FB) ~ 2 ¢ H* 3/ (B4 ~ 30:B5 = HTINN + 2 = K) / H:Bb = HTINN + 3 - K} ! H:B2 = B2 + BS
:B3 = B4 & BZ2:01 = 01 + BA:D2 = B5 / 2:08 = B4 / 2

16061 D3 = (D1 + D2) # B4:D4_= (D! - DB) # BA:DS = FN SI(D3) - FN SL(D4):D6 = FN COID3) - FN CO(D4)

16062 Cl = - (B1) # Wil) & ( FN SI(B3) / FN CO(B4) - B3):EL = Bl # W(l) # ({03 - D&) = D5 / EN COBAIIsHI = (4
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16064 FOR R = 0 TO N2:51 = 1: IF R = O THEN 16048

16066 FOR L = | TD R:51 = 51 # L: NEXT L

16068 C2 = - (BI # SIN IR+ 1} ¢ 10 /70 ~ 2% 51 /B4 *RIcCA=C2 ¢He(FNCOIBY) -1 - ( FN SI(B3) # FN
SI(B4) 7/ FN CO(BH))) / BW

1606% E2 = C2 ¢« H / B4 + (D6 - D5 « FN SI(B4) / FN CO(BA)):E] =0

16072 Ml = WiR +2) # H*2 B2~ (R+2) / (R+1) # (R+2):(5=0

16074 FORT =0 TOR + 1:P1 =R -T ¢ P2 =R -T+ 2:83 = [:54 = |

16076 FORL =1 TOP1:53 = 53 ¢ L: NEXT L

16078 FOR L = 1 T0 P2:54 = 54 # L: NEXT L

16080 CO =B #H e SINUT+ 1) #1177 ~251 /) (BA*T):CT=DB4 v B2 P2/ 54- FNSIB) / IS3 ¢ FNC
O(B4)):CS = C5 + CB # C9

16081 €8 = B4 « ((D3 / B4} ~ P2 - (D4 / BA) ~ R2) /N SASER 5 D5 / (53 # FN CO(BA)):E3 = E3 + CB ® (EB - E9)

16082 WNEXT T:Ch = Ch + (C4 + C5) ¢ WIR + 2)zE ";- # WIR + 20:H0 = KO + (M1 - UC4 + CS) & WIR + 2) #
LA(FBY} / IS{FBI: NEXT R:M& = MO # GLLFEDGNG = N0 &

15084 BSINN - K + 1) = El + E4 '

16090 AXINN = K} = T + CI + CozMOINN™= Qﬂ“lﬂﬂﬁ
16092 NEXT K: RETURN . . .

16095 IF 1 ¥ F 6OTD 16099
1509 60TD 156200

16099 IF 1 » F3 THEN 14104
16102 4 = 1 - F: GOTD 16300
16104 B = | - F3: GOTO 16310
16200 PRINT A$: PRINT *ODUTPUT
16300 PRINT AS$: PRINT "DUTPUT SHE
16310 'PRINT A$: PRINT *DUTPUT
16350 PRINT *REFL.  DISPL. COM. F
16400 PRINT *
16450 FOR J = 1 TOM:JI =N -] +1
16500 BL = INT (V(J1) # 10000 + 0.5 -
16550 B2 = INT (W) # 1000 + 0.5) / 1000 =5
16600 PRINT SPC( 3 - LEN ( SIR 153
16450 PRINT SPC{ 11 - LEN (/8
16700 PRINT SPC( 13 - LEN [ E
16750 NEXT J: PRINT : PRINT
16800 PRINT "FLOOR  WIND LDAD
16850 PRINT *
16900 FOR J = 0 TD NN

16950 B1 = INT (NL(J) lm

{0 &2 INT (500 + wwﬂmwmm
17050 B3 = INT (MO{J) ¢ 1000 + 0.5) /

17100 PRINT SPCI 4 - LEN | STR$ um;a-

i i R AR RN INNA Y

17250 IF 1 ¢ = FS60TD 17350

17300 PRINT SPC( Il - LEN ( STR$ (B3)));B3: BOTO 17400
17350 PRINT SPC( 8);*-*

17400 NEXT J: PRINT : PRINT : PRINT

17402 IF I ¢ = F3 60TO0 17450

17404 PRINT "AXIAL FORCE NOMEMT 1 MOMENT 2 m m
17405 PRINT * --
17408 FOR J = 0 TO NN

17410 BL = INT (AX(J) # 1000 + 0.5) / 1000
17412 B2 = INT (ND(J,1) ® 1000 + 0.5} / 1000
17414 B3 = INT (MO(J,2) # 1000 + 0.5) / 1000
17415 B4 = INT (BS(J) # 1000 + 0.5) / 1000
17420 PRINT SPC( 11 - LEN ( STR$ (B1)));B1;
17422 PRINT SPC{ 10 - LEN ( STR$ (B21));B2;
17424 PRINT SPC{ 10 - LEN ( STR$ (B3)));B3;

-




17425 IF 3 = 0 60T0 17429
17427 PRINT SPC( 12 - LEN { STR$ (B4)));Bé: GOTO 17430
17429 PRINT SPC( @) "

17430 NEXT J

17450 MEIT 1

17500 PRINT : PRINT 1 PRINT * END OF PROBLEN®
17550 IF AAS = *Y* THEN PRINT DSy*PRIO®

17600 PRINT DS;"RUN DPTIONS®

17650 END

]
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-
aliAl FURCE MOMEMI | MOMENT 2 GEAM SHEAR
334406 622,218 622.218
384,15 478,86 §if.0
359,998 377731 3TIE
128.493 303,054  303.034
193,798 245,058 245.004
756.393 198,204  198.204
-~ Ji3.788 5% 159207
190.895 126,128 12b.128
160, 230 77.65 97,65
W3z 791 7.7
106,833  §1.55% Sl
B4.29s 33,033 33.035
oh. 557 17.2 17.
.73 355 3.955
33,064 -b.bY =b. &
22,341 -14.819  -14.619
15,859 -19.606  -19.806
7.451 -2 -alawm
3443 -19.172 -19.1072
l-iﬂ 'li’.q“ﬁ '12."&3
u 0 t
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